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Q1. There are 6 cars.
2 more cars come.
How many are there now?

Solution:

Q2. I have 4 toffees.
I am given 3 toffees more.
How many toffees do I have?

Solution:

Q3. There are 3 birds on a tree.
2 more birds join them.
How many birds are there now?

Solution:

Q4. Timmy catches 4 fishes.
Jimmy catches 5 fish.
What is the sum?

Solution:

Q5. There are 5 ants.
2 more come.
How many ants are there now?

Solution:

Q6. I have 3 chocolates.
I buy 3 more.
How many chocolates do I have now?

Solution:
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Q1. There are 6 cars. Solution:
2 more cars come. 6 | | | | | |
How many are there now?
+ 2 |
8
Q2. I have 4 toffees. Solution:
I am given 3 toffees more. 4 l I l I
How many toffees do I have?
+ 3 [
7
Q3. There are 3 birds on a tree. Solution:
2 more birds join them. 3 | | |
How many birds are there now?
+ 2 |
5
Q4. Timmy catches 4 fishes. Solution:
Jimmy catches 5 fish. 4 | | | |
What is the sum?
+ 5 L1111}
9
Q5. There are 5 ants. Solution:
2 more come. 5 | | | | |
How many ants are there now?
+ 2 |
7
Q6. I have 3 chocolates. Solution:
I buy 3 more. 3 | | |
How many chocolates do I have now?
+ 3 [
6
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